Bid Tabulation For:Construction of Bradford Street Waterline RehabilitationTo Serve Galveston County W.C. & I.D. No. 12

Bid Opening Date: April 10, 2025 Bid Opening Location: District Office 524 Cien Road Kemah, TX 77565

Tabulation By:Tammy EndresTabulation Date:April 11, 2025LJA Project No.E125-1026

Bidder's Name:

1) On Par Civil Services, LLC

2) Texas Underground Utilities, Inc.

Calendar Days - 150

\$811,640.00 * \$972,028.00 MARK E. HAVRAN B 118610 SONAL ENGLA

Total Bid Amount for Base Bid & Supplementary Bid Items:

I, Mark Havran, P.E., hereby certify these bid tabulations to be true and correct.

*Mathematical Error

| LJA Project No. E125-1026 | | | | On-Par Civil Services, LLC 1220 Blalock Road, Suite 300 Houston, TX 77055 832-642-5469 Rogelio Munoz <u>bidonpar@gmail.com</u> | | Texas Underground Utilities, Inc. 14111 Elmfield Street Houston, TX 77047 832-487-9039 Elizabeth Lugo txu.utilities@gmail.com | |
|---------------------------|-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|--------------|----------|-----------------------------------------------------------------------------------------------------------------------------------------------|----------------------------|----------------------------------------------------------------------------------------------------------------------------------------------|--------------------------|
| ITEM | | EST. | | UNIT | TOTAL PRICE | UNIT | TOTAL PRICE |
| NO. | DESCRIPTION BASE BID ITEMS | QTY. | UNITS | PRICE | PER ITEM | PRICE | PER ITEM |
| 1 | 8-Inch Waterline (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place | 60 | LF | \$85.00 | \$5,100.00 | \$95.00 | \$5,700.00 |
| | 12-Inch Waterline (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place | 480 | LF | \$105.00 | \$50,400.00 | \$251.00 | \$120,480.00 |
| 3 | 12-Inch Waterline (PVC, AWWA C-900, DR-18) Augered Construction, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary), All Depths, Complete in Place | 860 | LF | \$115.00 | \$98,900.00 | \$178.00 | \$153,080.00 |
| 4 | 12-Inch Waterline (PVC, AWWA C-900, DR-18), Augered and Encased Construction, with 20-Inch Steel Casing (0.3125-Inch Thick Min.), Joint Restraints (as necessary), All Depths, Complete in Place | 175 | LF | \$240.00 | \$42,000.00 | \$427.00 | \$74,725.00 |
| 5 | Remove Existing 8-Inch Waterline, Complete in Place | 225 | LF | \$40.00 | \$9,000.00 | \$18.00 | \$4,050.00 |
| 6 | 12-Inch Gate Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place | 7 | EA | \$8,500.00 | \$59,500.00 | \$5,000.00 | \$35,000.00 |
| 7 | 8-Inch Gate Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place | 2 | EA | \$3,500.00 | \$7,000.00 | \$2,812.00 | \$5,624.00 |
| 8 | 6-Inch Gate Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place | 1 | EA | \$2,500.00 | \$2,500.00 | \$2,229.00 | \$2,229.00 |
| 9 | 8-Inch Check Valve (AWWA), 8-Inch Above Ground Vertical Offset with Joint Restraint (as necessary), Accessories, Complete In Place | 1 | LS | \$50,000.00 | \$50,000.00 | \$3,500.00 | \$3,500.00 |
| 10 | 12" Insertion Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place | 2 | EA | \$19,000.00 | \$38,000.00 | \$27,000.00 | \$54,000.00 |
| 11 | 8" Insertion Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place | 2 | EA | \$15,500.00 | \$31,000.00 | \$14,600.00 | \$29,200.00 |
| | 2-Inch Blow-off Valve Assembly, Accessories, Complete in Place | 1 | EA | \$2,000.00 | \$2,000.00 | \$2,000.00 | \$2,000.00 |
| | 6-Inch x 6-Inch Tapping Sleeve and Valve (AWWA) Full Body with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place | 2 | EA | \$5,000.00 | \$10,000.00 | \$5,500.00 | \$11,000.00 |
| 14 | 12-Inch x 8-Inch Tapping Sleeve and Valve (AWWA) Full Body with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place | 1 | EA | \$7,000.00 | \$7,000.00 | \$6,400.00 | \$6,400.00 |
| 15 | Fire Hydrant Assembly, With Restrained Joints, 4- Foot Bury, Concrete Collar, Including Extended Lead Piping as Shown on Plans when Required, Complete in Place | 5 | EA | \$9,500.00 | \$47,500.00 | \$7,800.00 | \$39,000.00 |
| 16 | Extra Depth Bury for Fire Hydrant, Complete in Place | 6 | VF | \$500.00 | \$3,000.00 | \$120.00 | \$720.00 |
| | Remove and Salvage Existing Fire Hydrant (Open cut & Backfill), Complete in Place | 1 | EA | \$1,500.00 | \$1,500.00 | \$1,000.00 | \$1,000.00 |
| | Well Point Dewatering System, Installed, Operated and Removed As Directed by Engineer's Representative, Complete in Place | 800 | LF | \$40.00 | \$32,000.00 | \$28.00 | \$22,400.00 |
| | Trench Safety System, Complete in Place Concrete Surface Restoration, Per Detail, Includes Saw-Cut and Removal of Existing Concrete, | 800 1,500 | LF SY | \$2.00 \$115.00 | \$1,600.00 \$172,500.00 | \$1.00 \$135.00 | \$800.00 \$202,500.00 |
| 21 | Complete in Place Turf Establishment, Full Sodding, Complete in Place | 165 | SY | \$10.00 | \$1,650.00 | \$15.00 | \$2,475.00 |

| Bid Tabulation - Bid Opening, April 10, 2025 Galveston County W.C. & I.D. No. 12 Bradford Street Waterline Rehabiltiation LJA Project No. E125-1026 FRN F-1386 | | | | On-Par Civil Ser 1220 Blalock Ro Houston, TX 770 832-642-5469 Rogelio Munoz bidonpar@gmai | oad, Suite 300 055 <u>I.com</u> | Texas Underground Utilities, Inc. 14111 Elmfield Street Houston, TX 77047 832-487-9039 Elizabeth Lugo txu.utilities@gmail.com | |
|----------------------------------------------------------------------------------------------------------------------------------------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------|-------------|----------------------------------------------------------------------------------------------------------|---------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------------|------------------------|
| ITEM | | EST. | | UNIT | TOTAL PRICE | UNIT | TOTAL PRICE |
| NO. 22 | DESCRIPTION Traffic Control as Necessary Includes Acquiring | QTY. | UNITS LS | PRICE \$15,000.00 | PER ITEM \$15,000.00 | PRICE \$1,500.00 | PER ITEM \$1,500.00 |
| | Traffic Control, as Necessary, Includes Acquiring Permits, Installation, Maintenance, & Removal of All Traffic Control Devices Required by Permit and as Shown on Project Plans, Complete in Place | | | | | | |
| | SWPPP, Area Inlet Protection Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place | 25 | EA | \$250.00 | \$6,250.00 | \$70.00 | \$1,750.00 |
| | SWPPP, Curb Inlet Protection Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place | 1 | EA | \$300.00 | \$300.00 | \$100.00 | \$100.00 |
| 25 | SWPPP, Reinforced Filter Fabric Barrier, Installed, Maintained, And Removed, In Accordance with Best Management Practices, Complete in Place | 480 | LF | \$3.00 | | \$2.75 | \$1,320.00 |
| | SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 25 | | | \$695,140.00 | | | \$780,553.00 |
| | SUPPLEMENTARY ITEMS | | | | | | |
| 26 | "Extra" Embankment for Fill Purposes if Required, Placement and Compaction to 95% Standard Proctor Density, As Directed by Owner's Representative, Complete in Place | 100 | CY | \$10.00 | \$1,000.00 | \$17.00 | \$1,700.00 |
| 27 | "Extra" Bank Sand, As Directed by Owner's Representative, Complete in Place | 100 | CY | \$10.00 | \$1,000.00 | \$10.00 | \$1,000.00 |
| 28 | "Extra" Crushed Limestone Bedding, As Directed by Owner's Representative, Complete in Place | 100 | CY | \$25.00 | \$2,500.00 | \$25.00 | \$2,500.00 |
| 29 | "Extra" Cement Stabilized Sand, 2.0 Sacks per Ton, As Directed by Owner's Representative, Complete in Place | 100 | TON | \$30.00 | \$3,000.00 | \$30.00 | \$3,000.00 |
| 30 | "Extra" Class A Concrete, As Directed by Owner's Representative, Complete in Place | 100 | CY | \$100.00 | \$10,000.00 | \$150.00 | \$15,000.00 |
| 31 | "Extra" Reinforcing Steel, As Directed by Owner's Representative, Complete in Place | 1,000 | LB | \$1.00 | \$1,000.00 | \$1.00 | \$1,000.00 |
| | 6-Inch Waterline (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place | 100 | LF | \$80.00 | \$8,000.00 | \$131.00 | \$13,100.00 |
| 33 | 8-Inch Waterline (PVC, AWWA C-900, DR-18) Augered Construction, Joint Restraints (as necessary), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary), All Depths, Complete in Place | 100 | LF | \$90.00 | \$9,000.00 | \$95.00 | \$9,500.00 |
| 34 | 6" Insertion Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place | 1 | EA | \$1,500.00 | \$1,500.00 | \$12,500.00 | \$12,500.00 |
| 35 | Cut and Plug Existing Waterline (Open cut & Backfill), Complete in Place | 1 | EA | \$1,200.00 | \$1,200.00 | \$1,200.00 | \$1,200.00 |
| 36 | Close Existing Valve, Remove Box, Plug Valve Operator (Open cut & Backfill), Complete in Place | 1 | EA | \$500.00 | \$500.00 | \$600.00 | \$600.00 |
| 37 | 18-Inch Reinforced Concrete Pipe, ASTM C-76, Class III, Complete in Place | 50 | LF | \$60.00 | \$3,000.00 | \$95.00 | \$4,750.00 |
| | 24-Inch Reinforced Concrete Pipe, ASTM C-76, Class III, Complete in Place | 50 | LF | \$80.00 | \$4,000.00 | \$112.00 | \$5,600.00 |
| | Surface Restoration, Concrete Pavers Surface, Complete in Place | 25 | SY | \$50.00 | \$1,250.00 | \$135.00 | \$3,375.00 |
| | Asphalt Surface Restoration, Including 8-Inch Thick Asphalt Base, Gr. 2, PG-64, Per TXDOT Item 292, and 2 1/2-Inch Thick HMHL Surface Coarse, Type "D" per TXDOT Item 340, Includes Saw-Cut and Removal of Existing Pavement, | 30 | SY | \$80.00 | \$2,400.00 | \$95.00 | \$2,850.00 |
| | Reinforced Concrete Pavement for Driveways Maximum 10-Inch Depth (Minimum 5.5 Sacks per Cubic Yard), Complete in Place | 830 | SY | \$80.00 | \$66,400.00 | \$135.00 | \$112,050.00 |
| 42 | "Extra" Turf Establishment, Hydromulch, As Directed by Owner's Representative, Complete in Place | 0.5 | AC | \$1,500.00 | \$750.00 | \$3,500.00 | \$1,750.00 |
| | SUB-TOTAL SUPPLEMENTARY ITEMS - ITEMS 2 | 26 - 42 | · | | \$116,500.00 | | \$191,475.00 |

| Bid Tabulation - Bid Opening, April 10, 2025 | | | | On-Par Civil Services, LLC | | Texas Underground Utilities, Inc. | |
|----------------------------------------------|-----------------------------------------------|--------------|---------|------------------------------|--------------|-----------------------------------|--------------|
| Galveston County W.C. & I.D. No. 12 | | | | 1220 Blalock Road, Suite 300 | | 14111 Elmfield Street | |
| Bradford Street Waterline Rehabiltiation | | | | Houston, TX 77055 | | Houston, TX 77047 | |
| LJA P | LJA Project No. E125-1026 | | | 832-642-5469 | | 832-487-9039 | |
| FRN F | FRN F-1386 | | | Rogelio Munoz | | Elizabeth Lugo | |
| | | | | <u>bidonpar@gmai</u> | <u>l.com</u> | txu.utilities@gmail.com | |
| ITEM | | EST. | | UNIT | TOTAL PRICE | UNIT | TOTAL PRICE |
| NO. | DESCRIPTION | QTY. | UNITS | PRICE | PER ITEM | PRICE | PER ITEM |
| | SUMMARY OF BID | | | | | | |
| | | | | | | | |
| | BASE BID ITEMS | ITEMS 1 - 25 | | | \$695,140.00 | _ | \$780,553.00 |
| | | | | | | | |
| | SUPPLEMENTARY ITEMS | ITEMS 2 | 26 - 42 | \$116,500.00 | | \$191,475.00 | |
| | | | | | | | |
| | | | | | | | |
| | | TIEMS | 1 - 42 | | \$811,640.00 | - | \$972,028.00 |
| | TOTAL BASE BID AND SUPPLEMENTARY BID ITEMS | | 1 - 42 | | \$811,640.00 | - | \$972,028.0 |